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Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.
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1. a) "Valuation of ship is of prime importance to a Hull Underwriter." Discuss. 8 each
b) Calculate the 'Slip rate' and Premium payable from the following :

Vessel : M. V. Sagar Kanya
Year/Built : 2004
Type : General Cargo Vessel

GRT : 9045 tonne
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Sum Insured : Rs. 26,00,00,000

Trading area : East and West coasts of India
Conditions . Institute Time Clause Hulls 1.10.1983
Total Loss risk rate : 0.250%

Other than total Loss risk rate:  Rs.32 per tonne

Deductible : Rs. 4,50,000
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Why does a Marine Underwriter seek re-insurance ? 12
Describe the utility and purpose of Excess of Loss Reinsurance .
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State for what types of Cargo would the following clauses be used : 2 each
a) Picking Clause b) Cutting Clause
¢) Replacement Clause d) Garbling Clause
e) Pairand Set Clause fy Lable Clause.
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As an Underwriter, assess the risks involved in insurance of : 4 each
a) Deck Cargoes

b) Vessels plying in Port waters

¢) Tail-end of a transit.
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"Underwriters remain seriously concerned regarding the ‘Flag of Convenience’
vessels” . Explain the statement.
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A shoe manufacturer desires to take an open policy for his despatches within
India. However, he anticipates that there may be some consignees who will
delay payment and others who will not be prompt in taking delivery at
destination. He, therefore, wants your suggestion to ensure protection for his
goods at destination for a few months. Briefly highlight the provisions of Insurance
cover that you will suggest to him.
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Give a summary of the losses included and excluded under the */; ths Collision
Liability Clause of the ITC - Hulls and IVC - Hulls.
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Enumerate the risks covered and excluded under the Marine-cum-Erection
Insurance Policy.
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Discuss the Duration of cover under :
a) Institute War Clauses (Cargo)
b) Institute Strikes Clauses (Cargo)
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Write short notes on :-

a) Aggregate Excess of Loss Reinsurance
b) Fraudrelated to Chartering of vessels
¢) Lyods’Confidential Index
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6 each
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4 each




